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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,692 85962 40927 45,035
RIRET1T 6 15 9 6
RIRET2T 25 56 27 29
RIRET3T 179 584 284 300
RIRET4T 418 969 480 489
B 628 1,624 800 824
REH 2,780 6,157 2,872 3,285
L&A 4,334 9,312 4,344 4,968
5E 2,672 5,857 2,827 3,030
B AN 1,334 2,825 1,320 1,505
BERT 1,406 1,936 932 1,004
BER2T 938 1,649 813 836
BERST 765 1,855 892 963
B 3,109 5,440 2,637 2,803
BEXRE 285 634 303 331
= 2,179 4,767 2,272 2,495
hERE 632 1,387 636 751
aE 2,435 4,959 2,394 2,565
25 L ET 2,339 4,972 2,381 2,591
B &AL BT 73 142 58 84
HEFILET1T 568 1,219 564 655
HEFILET2T 602 1,224 581 643
HEZFILAT3T 700 1,582 764 818
g 1,943 4,167 1,967 2,200
B & it B Fr ET 679 1,515 733 782
BHEREBET1T 580 1,167 568 599
BHERERET2T 773 1,697 825 872
BHERERETST 788 1,591 728 863
BHERERET4T 509 920 435 485
HEKERETST 840 1,660 792 868
HEERET6T 911 1,900 922 978
BHERERET7T 909 1,833 884 949
HERERETST 72 202 97 105
£t| 5382 10970 5,251 5,719
HEF R FET 2,008 4,095 2,000 2,095
S|EFET1T 649 1,592 785 807
S|EFET2T 769 1,721 810 911
S|EFET3 T 746 1,363 626 737
g 2,164 4676 2,221 2,455
ERE1T 589 1,306 627 679
EIRET2T 386 1,026 506 520
EREIST 525 1,314 643 671
EIRETAT 696 1,430 624 806
EIZEIST 549 1,184 587 597
g 2,745 6,260 2,987 3,273
M EFHE 2,938 6,153 2,893 3,260
J\THET1T 32 35 16 19
J\THET2T 24 51 26 25
J\THEI3T 50 106 47 59
B 106 192 89 103
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